
Please only complete if your child is able to answer the first set of questions 

rapidly and is independently applying the generalisations introduced during 

the maths video lesson.  

Extension Task A 

38 + 0 = __ 

39 + 0 = __ 

40 + 0 = __ 

56 + 0 = __ 

0 + 57 = __ 

58 + 0 = __ 

0 + 59 = __ 

 92 + 0 = __ 

91 + 0 = __ 

90 + 0 = __ 

0 + 72 = __ 

71 + 0 = __ 

70 + 0 = __ 

69 + 0 = __ 

Extension Task B 

98 - 0 = __ 

96 - 0 = __ 

94 - 0 = __ 

78 - 0 = __ 

76 - 0 = __ 

74 - 0 = __ 

 40 - 0 = __ 

30 - 0 = __ 

20 - 0 = __ 

10 - 0 = __ 

80 - 0 = __ 

Extension Task C 

 87   ?   49  
               

?  87 63  0 49  ? 
 

 71   ?   85  
               

?  71 24  0 85  ? 
 


